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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10

O PPN B firan

{a) What is Pareto optimality?
CEIB” FTrel 15 2
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(b) Is there transportation cost under
perfect competition?

o AR EET I&ES ARITRA I/ ST ?

(c) What is market failure?

e[ [weae &2

(d) What is the shape of MR curve under
second degree price discrimination?

S R " R g I QIR
SIS (T A ?

(e) Define supernormal profit.

Srelfde wred SigE i |

(/ What is a perceived demand curve?

oS oIz @41 6 2

(g9 Write correct or incorrect :

“Under monopolistic competition, there
are a few sellers.”

RLRGR R RGE

“qIFRIR AN WIS T WAF Rl
e 1’
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(i)
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(3)

What is oligopoly?
TR & 32

What is meant by moral hazard?

tifes Rl it & @ 2

What is a two-person game?

faafes cm 2

2. Answer the following questions : 2x5=10

o4 AR el frn

(@)

(b)

24A /702

What is a contract curve?

phe 1 2

Mention two important characteristics
of public good.

e TR o1 By (APRy Seard 0 |

What is product differentiation?

A AR 1 2
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(d) Mention two applications of game
theory.

(e O 01 TS SrE 41

(e) What is information ésymmetry?
YR HefSrel 2

3. Answer any four of the following questions :
5x4=20

o 2R R e vifkorR Teg fuan

(a) Explain briefly equilibrium and
efficiency under pure exchange.

o9f RRTR cvqe Somel wF vl T
BT AT F4

(b) What is Coase theorem? Explain.
F'E og 2 M

(c) Explain the ‘prisoner’s dilemma’.

‘TR fadr’ [ 01
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(d) How is the peak-load pricing done?
Explain.

HSILAS R LIRS e RS IRVR AT Sl

(e) Explain the Bertrand equilibrium.
IREST SIS P F40 |

(f) Briefly explain the concept of adverse
selection.

2o fI6=a YIREACOT BYLF 70 341 |

4. Answer the following questions : 10x4=40
O oA Tad o
(a) Discuss the equilibrium price

and output determination under
monopolistic competition.

GIEFR  AfSN ISRS ST 0N W

oo (YR SCA 341 |
Or /341
Compare perfectly competitive

equilibrium with monopoly equilibrium.

of cfScrfromee Somer e GCoo
SIPTHOR Qe 41 |
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(b) Discuss the equilibrium of two-person
zero-sum game with maxi-min and

mini-max strategies.

‘GR-RE e RR-a @rer SIRwe.
fa-1f& *1-ce (¥eR ST SC=AD F4410 |

Or /941

Discuss the problems associated
with the markets with asymmetric
information.

HAfSW IR I[WER TS GO AR
e 2 |

() Discuss how Pareto efficiency in
production is achieved.

TS (R0’ WOl ([FCeWME  A1Y T,
AT F41 |

Or /JYq1

How are equilibrium price and output
determined under third degree price
discrimination? Discuss.

PO CfAR W ResHieaT® SR T W
TeomA e (g 91 =0 2 s 47 |
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(d) Discuss how production possibility
frontier and social indifference curve

determine allocative efficiency.

e SISl [ SF NG FIcers cw?;
e RS v el I, DAl I |

Or /<71

Discuss how both positive and
negative externalities can lead to
market failure.

EANE TF YTRE AFel, eAiedd R
IwR iweror ¥ 7 #i1eq, e <41 |
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